	[bookmark: _GoBack]in the town and countryside, leisure facilities for employees are becoming more important.
	Natural routes
	costs increase when the items being moved are bulky, fragile, or heavy, or lose quality quickly.

	the bulkier and heavier these are to transport, the nearer a factory should be located to the raw materials.  This was even more important in times when transport was less developed.
	Raw materials
	this is needed to work the machines in the factory.  Early industry needed to be sited near to fast-flowing rivers or coal reserves, but, today, electricity can be transported long distances.

	examples include facsimile (fax) machines, electronic mail and satellite communications
	Improved technology
	in the days before the railway, car or lorry, transport was by river or horse and cart, so flat areas and river valleys were essential.

	Leisure facilities –
	the size and the location of markets has become more important than the source of raw materials
	Government policies

	Instructions; Cut out all of the cards and match up with the correct definition. Stick in your book when correct. 
For each one give an example.
	although early industry did not take up much space at first, it did need flat land for building.  As the size of the factories increased, more land was needed.  Ideally such sites were on low-quality Farmland as it cost less.
	early industry depended on wealthy people willing to risk their own money but investment now also comes from banks and governments.

	as governments tend to control most wealth, they can influence industrial location by giving grants to help certain parts of their country
	Site and Land
	Colour code into human and physical factors. How do you think factors influencing industrial location have changed over time? 

	Labour
	factories, and some other sectors of the industry need large numbers of workers.  Others needed skilled employees e.g. technology-based industries often need university graduates
	Markets

	Capital (money)
	Power (energy)
	Transport




